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1. If 𝐴, 𝐵, 𝐶 are three matrices such that 𝐴 = [𝑥 𝑦 𝑧], 𝐵 = +
𝑎 ℎ 𝑔
ℎ 𝑏 𝑓
𝑔 𝑓 𝑐

2 , 𝐶 = 3
𝑥
𝑦
𝑧
4, find 

𝐴𝐵𝐶. 

2. If 𝐴 = 51 −1
2 −19 , 𝐵 = 	 5

𝑎 1
𝑏 −19 and (𝐴 + 𝐵)! = 𝐴! + 𝐵!, find 𝑎 and 𝑏. 

3. Let 𝐴 = 52 −1
3 4 9 , 𝐵 = 55 2

7 49 , 𝐶 = 52 5
3 89. Find a matrix 𝐷 such that 𝐶𝐷 − 𝐴𝐵 = 0. 

4. If 52 3
5 79 5

1 −3
−2 4 9 = 5−4 6

−9 𝑥9, find 𝑥. 

5. If 𝐴 = 5 3 1
−1 29, show that 𝐴! − 5𝐴 + 7𝐼! = 0. 

6. If 𝐴 = 5 3 −5
−4 2 9, find 𝐴! − 5𝐴 − 14𝐼. 

7. Find the matrix 𝐴 such that: (i) H
4
1
3
I 𝐴 = H

−4 8 4
−1 2 1
−3 6 3

I (ii) 

[2 1 3] H
−1 0 −1
−1 1 0
0 1 1

I H
1
0
−1
I = 𝐴 (iii) 𝐴 = 51 2 3

4 5 69 = H
−7 −8 −9
2 4 6
11 10 9

I 

8. To promote making of toilets for women, an organisaHon tried to generate 
awareness through (i) house calls (ii) leIers, and (iii) announcements. The cost for 
each mode per aIempt is given below: (i) Rs.50 (ii) Rs.20 (iii) Rs.40. The number of 
aIempts made in village in three villages 𝑋, 𝑌, 𝑍 are given below. Find the total cost 
incurred by the organisaHon for three villages separately, using matrices. 

 (i) (ii) (iii) 
X 400 300 100 
Y 300 250 75 
Z 500 400 150 

9. If 𝐴 = 5 cos 2𝜃 sin 2𝜃
− sin 2𝜃 cos 2𝜃9, find 𝐴!. 

10. If 𝐴 = H
2 0 1
2 1 3
1 −1 0

I, find 𝐴! − 5𝐴 + 4𝐼 and hence find a matrix 𝑋 such that 𝐴! −

5𝐴 + 4𝐼 + 𝑋 = 0. 

𝐃𝐏𝐏 − 𝟎𝟑 

 𝐓𝐨𝐩𝐢𝐜𝐬: 
• Mul0plica0on of matrices. 


